Section H/1 - Ge@%OX

N.B. Gearbox part numbers %@1 with (F)



contents

&

Remove and Replace Gearbox . c'&

B &

Remove and Replace Propshaft 0&

%0
Q@
Remove and Replace Gea{@ver

O\

Q>

.’

Gearbrg é@ evel checking

O
QQ
AN
‘ﬂ?mwing and refilling gearbox oil
<
NN
.&
%O




Q
Service / Workshop Ma@\ﬁ
N

Gearbox removal & re(f,)%cement



To gam access to remove the gearbox the car -
must be ra1sed on a ramp. L

1
.
Service/Workshop Manual - Gearbox e S _ e - G @Q) 45
D1sc0nnect the battery As c%&d in the :
electrical section of this m /
O
6%
xO
2 -
"Q .
\‘Q)" .
~o°° - =

QCJDram the gearbox of its oil.
$T

Remove the 10 x MlD bolts that secure the :
chass1s strengthening plate in place. -

kshop Manual - Gearbox

Service/Wo



CERBERA SERVICE/WORKSHOP MANUAL

_ Remove the 5 x M10 bolts which secure the
front chassis closmg plate

Service/Workshop Manual - Gearbox ' s - : @ |

~ Remove the rear anti roll&% descnbed in ’che
rear suspension sectio -
MKI antj-roll bars we’?n@ﬁted upto 1 / 98
(As Shown) :
MKII onwardK@?ear suspensron update

Serv eokshop Mammi - Gearbox | e &) )

- Split the exhaust system at the mamfold to
catalysts. Support the rear silencer and unhook
the rear exhaust supporting rubbers. Remove
the whole exhaust system. .

Drill out the rivets which secure the heat shield
to the inside of the tunnel and remove.

Service/Workshop Manual - Gearbox



Remove the 4 x 3/ 8 UNF bolts that secure _-:che
prop shaft to the diff. The prop will then;g ide
free f"om the gearbox

Service/Workshop Manual - Gearbox

Gearbox Mountmg bracket. O%sears Pre Jan * 97.

~ bobbins on the gearbox munting and Jtlieh?thef :
2 xM10 nuts whxclx@)d the mou.ntmg bracket _
in place. |

N.B. The gearb x\vﬂl drop shghﬂy Suppor ;
the sump at, rear should allow eneugh space
- o remov th earbox = .

Service/Workshop Manual - Gearbox

“OCJ

onwards. _
Supporting the gearbox remove the mountmg
bracket by removing the M12 nut and bolt on 5_
the rubber mounting. The bracket can then be )
removed. o

N.B. The gearbox w111 drop slightly. Supportmg

the sump at the rear should allow enough space
~ to remove the gearbox. -

Remove the 2 X M8 gear lever securing bolts '. .
from above the gearbox and leave the gearlever-=
in place |

Service/Workshop Manual -



CERBERA SERVICE/WORKSH OP MANUAL

Remove the sensors which are located in the
end of each exhaust manifold.
Note whlch Sensor comes from wluch bank

- (30'
2D

13 L e | e
Semce/horkchop Manua! G Earbax : '&
&
C
>
Disconnect the reverse 1 w1tch ermg from
) the N/S of the gearb06
6%
O
xO
Q\'
Service/Workshop Manual - Gearbox . \p 3
%\
>0

Remove the 4 x M12 allen bolts from the .
gearbox that secures it to the bellhousing.

Mfdal - Gearbox

To remove the gearbox box the two manifolds .
may have be moved by levering them toeach |
side and down so the back end of the gearbox |
can be manoeuvred past them.

Service/Workshop Manual - Gearbox




'Ihe gearbox ]
: down so that it wil drop out f-ront sid, ﬁrs :

17

Service/Workshop Manual - Gearbox

Service/Workshop Manual - Gearbox

CJAll new gearboxes w111 be f1tted w1th speedo
 drives. Replace w1th the blankmg plug from the

old gearbox.




Service / Workshop Mq@\?

Prop-Shaft removal & @placement
N
n%\



To remove the prop shaft the car must be ra1sed
on a ramp so access can be gamed from -
undemeath L

Service/Workshop Manual - Prop-Shaft

Remove the exhaust mountug’ %bm securmg
nut. _ - ' 0\ -

Service/Workshop Manual - Prop-Shaft ' \‘@" S ' . - L

Remove the 10 x MlU allen bolts that secure the
strengthening plate in place.

Remove the rear anti roll bar - descrlbed in the :
rear suspension section. -

Service/Workshop Manual - Prop-Shaft



|
!

" CERBERA SERVICE/WORKSHOP MANUAL '
-

. Support the rear silencer and unhook the rear
-exhaust supporting rubbers.

ng@
-cz}

Service/Workshop Manual - Prop-Shaft ' _ - . ‘&Q)
o
C
‘Remove the exhaust systen¥from the manifolds
) to cats. and remove t ole exhaust system
complete with catazl)fbc convertors. :
RS
xO
s
: _ { © g
Sem‘ce/l‘\forksho Manual - Prop—aﬁ . . & !
S
O

Remove the 4 x 3/8 UNF bolts that secure the
prop shaft to the diff. The prop will then shde
free from the gearbox.

To replace a new prop shaft the outlined =~
procedure should be reversed. Carefully check
exhaust clearance. N.B. When a new prop has
been fitted check the prop shaft end float

(rear of prop - diff. flange this should be 7-10mm).
New bolts and nyloc nuts should be used and
torqued to 45 ft Ib.

: ' If however the end float isn’t between 7-10mm
Service/Workshop Manual - Prop-Shaft please contact the TVR factory for advise.




“06
Service / Workshop Mq@al
¥
Gear lt-:-verQO
xQ"
R
P
Q$
&



Service/Workshop Manual - Gear Lever

Service/Workshop Manua ®®M? Lever

&

)

iice/Workshop Manual - Gear Lever

To remove the gearlever the ¢ car must be ralsed
on a ramp 50 access from underneath can be -

C«Remove the gear knob and the gear knob bush
& from the gearlever in the cabin. \

3
Remove the rear anti-roll bar and the compl'ef'e:
exhaust system - as described in the removal of
gearbox sub-section. -
A




3
]

Service/Workshop Manual - Gear Lever

Service/Workshop Manual - Gear Lever

CERBERA SERVICE/WORKSHOP MANUAL

. f:Remove the 2 x M8 allen bolts Wthh connect
 the gear lever to the gearbox. ‘This is easier if
~ done from under the car. To gain better access to

= these bolts. the heat sheild and prop should alse RN
- 'be removed as descnbed in the1r relevany

q;b"

Once this has been don%ﬁ% gearlever can be :
removed and replace .




_. CERBERA SERVICE/WORKSHOP MANUAL



